*
il
=3
JJm
\>
il
n
BF
e
)
(i

THTEE

SFxTEA1H(L)-2B(H)

DEBF 1 0% % E£1H F£2H

NE{sz [7)IE| K4 FrE  [#85t] 10| X |#&&5] 10| X [#8EF X X
1[1-A IR _K#&E [tHEE 613 14| 1 609] 11| 3 590 4 3
211-B [E T &KX |fafE 602| 17| 8 606| 14| 2 597 3 2
3[i-D [#1U =5+~ [/MhEFE 566 8| 1 561 11| 6 530 0 6
4|12-B [BBt+/F #FA |tapE 591 10| 3 553 9] 2 557 ) 2
5/5-A |E&K HE |taiE 566 9| 1 539] 3] 0 554 2 2
6|12-A [P+ EiD  |FEEE 549 8| 2 479] 2| o 539 3 3
714-A [F1 X |[faEE 567| 8| 0 516 4] 2 534 2 2
8|3-B |f&Ll i FakE 532 7| 1 534] 2| 0 529 0 0
913-A A\ Ef  [HTE 506] 4] 2 496 4] 0 507 1 1
10{3-C |iZ#T fBEKER [takE 559] 9| 2 212] 1] 0 453 0 0

2 RBESBREE

X EERHE
-1HH=Y70m 725 DiREZ2BBITV. S8R DA DELERTIERZRE,
- L6 R FTHERRZRKREEZR[7A13H(D)-HELAE]IZHEH,




